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No two capacitors are in parallel or in series. nl e +| | =
Solution requires different strategy: g |(|:
Cq + 4
e zero charge on each conductor C —
(here color coded), _ C2 3 C5 |
e zero voltage around any closed loop. +I I_ +I I
Specifications: C'1,...,Qs5, V. V
Five equations for unknowns Q+1, ..., @s: D
®* Q1 +Q2—-Q1—-Q5=0 @ Cm=1pF,m=1,...,5and V = 1V:
® Q3+ Qs—Q1=0 Cow = 1pF, Qs = 0
o W5 U8 Gu_ A | ,1
Cs  Cs  Ca Q1=Q2=0Q4=Q5=pC.
@2 @1 Ws 0
¢z C1 (3 ®) Con =mpF,m=1,....,5and V = 1V
OV—@—%ZO 159 55 104
Ch Cy Ceq — WPF, Ql — ﬁpca Q2 — WPC’
. . _ Q1+ Q2 9 64 95
Equivalent capacitance: Ceq = —v Qs = _ﬁpc’ Qy = ﬁpc’ Q5 = ﬁpc’
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